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Question 1
Question Type: MultipleChoice

A telemarketing company is designing its customer call center functionality on AWS. The company needs a solution Diet provides

multiples ipsafcar rvcognrfeon and generates transcript files The company wants to query the transcript files to analyze the business

patterns The transcript files must be stored for 7 years for auditing piloses.

Which solution will meet these requirements?

Options: 
A- Use Amazon Rekognition for multiple speaker recognition. Store the transcript files in Amazon S3 Use machine teaming models for

transcript file analysis

B- Use Amazon Transcribe for multiple speaker recognition. Use Amazon Athena tot transcnpt file analysts

C- Use Amazon Translate lor multiple speaker recognition. Store the transcript files in Amazon Redshift Use SQL queues lor transcript

file analysis

D- Use Amazon Rekognition for multiple speaker recognition. Store the transcnpt files in Amazon S3 Use Amazon Textract for transcnpt

file analysis

Answer: 
C



Question 2
Question Type: MultipleChoice

A solutions architect is designing a customer-facing application for a company. The application's database will have a clearly defined

access pattern throughout the year and will have a variable number of reads and writes that depend on the time of year. The company

must retain audit records for the database for 7 days. The recovery point objective (RPO) must be less than 5 hours.

Which solution meets these requirements?

Options: 
A- Use Amazon DynamoDB with auto scaling Use on-demand backups and Amazon DynamoDB Streams

B- Use Amazon Redshift. Configure concurrency scaling. Activate audit logging. Perform database snapshots every 4 hours.

C- Use Amazon RDS with Provisioned IOPS Activate the database auditing parameter Perform database snapshots every 5 hours

D- Use Amazon Aurora MySQL with auto scaling. Activate the database auditing parameter

Answer: 
B



Question 3
Question Type: MultipleChoice

A company wants to run a gaming application on Amazon EC2 instances that are part of an Auto Scaling group in the AWS Cloud. The

application will transmit data by using UDP packets. The company wants to ensure that the application can scale out and in as traffic

increases and decreases.

What should a solutions architect do to meet these requirements?

Options: 
A- Attach a Network Load Balancer to the Auto Scaling group

B- Attach an Application Load Balancer to the Auto Scaling group.

C- Deploy an Amazon Route 53 record set with a weighted policy to route traffic appropriately

D- Deploy a NAT instance that is configured with port forwarding to the EC2 instances in the Auto Scaling group.

Answer: 
B



Question 4
Question Type: MultipleChoice

A company wants to use the AWS Cloud to make an existing application highly available and resilient. The current version of the

application resides in the company's data center. The application recently experienced data loss after a database server crashed

because of an unexpected power outage.

The company needs a solution that avoids any single points of failure. The solution must give the application the ability to scale to meet

user demand.

Which solution will meet these requirements?

Options: 
A- Deploy the application servers by using Amazon EC2 instances in an Auto Scaling group across multiple Availability Zones. Use an

Amazon RDS DB instance in a Multi-AZ configuration.

B- Deploy the application servers by using Amazon EC2 instances in an Auto Scaling group in a single Availability Zone. Deploy the

database

on an EC2 instance. Enable EC2 Auto Recovery.

C- Deploy the application servers by using Amazon EC2 instances in an Auto Scaling group across multiple Availability Zones. Use an

Amazon RDS DB instance with a read replica in a single Availability Zone. Promote the read replica to replace the primary DB instance if

the primary DB instance fails.



D- Deploy the application servers by using Amazon EC2 instances in an Auto Scaling group across multiple Availability Zones Deploy

the primary and secondary database servers on EC2 instances across multiple Availability Zones Use Amazon Elastic Block Store

(Amazon EBS) Multi-Attach to create shared storage between the instances.

Answer: 
A

Question 5
Question Type: MultipleChoice

A company runs a high performance computing (HPC) workload on AWS. The workload required low-latency network performance and

high network throughput with tightly coupled node-to-node communication. The Amazon EC2 instances are properly sized for compute

and storage capacity, and are launched using default options.

What should a solutions architect propose to improve the performance of the workload?

Options: 
A- Choose a cluster placement group while launching Amazon EC2 instances.



B- Choose dedicated instance tenancy while launching Amazon EC2 instances.

C- Choose an Elastic Inference accelerator while launching Amazon EC2 instances.

D- Choose the required capacity reservation while launching Amazon EC2 instances.

Answer: 
A

Explanation: 
https://docs.aws.amazon.com/AWSCloudFormation/latest/UserGuide/aws-resource-ec2-placementgroup.html

: 'A cluster placement group is a logical grouping of instances within a single Availability Zone that benefit from low network latency, high

network throughput'

Question 6
Question Type: MultipleChoice

A new employee has joined a company as a deployment engineer. The deployment engineer will be using AWS CloudFormation

templates to create multiple AWS resources. A solutions architect wants the deployment engineer to perform job activities while following

https://docs.aws.amazon.com/AWSCloudFormation/latest/UserGuide/aws-resource-ec2-placementgroup.html


the principle of least privilege.

Which steps should the solutions architect do in conjunction to reach this goal? (Select two.)

Options: 
A- Have the deployment engineer use AWS account roof user credentials for performing AWS CloudFormation stack operations.

B- Create a new IAM user for the deployment engineer and add the IAM user to a group that has the PowerUsers IAM policy attached.

C- Create a new IAM user for the deployment engineer and add the IAM user to a group that has the Administrate/Access IAM policy

attached.

D- Create a new IAM User for the deployment engineer and add the IAM user to a group that has an IAM policy that allows AWS

CloudFormation actions only.

E- Create an IAM role for the deployment engineer to explicitly define the permissions specific to the AWS CloudFormation stack and

launch stacks using Dial IAM role.

Answer: 
D, E

Explanation: 
https://docs.aws.amazon.com/IAM/latest/UserGuide/id_roles.html https://docs.aws.amazon.com/IAM/latest/UserGuide/id_users.html

https://docs.aws.amazon.com/IAM/latest/UserGuide/id_roles.html


Question 7
Question Type: MultipleChoice

A corporation has recruited a new cloud engineer who should not have access to the CompanyConfidential Amazon S3 bucket. The

cloud engineer must have read and write permissions on an S3 bucket named AdminTools.

Which IAM policy will satisfy these criteria?

A.



B.



C.



D.



Options: 
A- Option A

B- Option B

C- Option C



D- Option D

Answer: 
A

Explanation: 
https://docs.amazonaws.cn/en_us/IAM/latest/UserGuide/reference_policies_examples_s3_rw-bucket.html

Question 8
Question Type: MultipleChoice

A company wants to direct its users to a backup static error page if the company's primary website is unavailable. The primary website's

DNS records are hosted in Amazon Route 53. The domain is pointing to an Application Load Balancer (ALB). The company needs a

solution that minimizes changes and infrastructure overhead.

Which solution will meet these requirements?

https://docs.amazonaws.cn/en_us/IAM/latest/UserGuide/reference_policies_examples_s3_rw-bucket.html


Options: 
A- Update the Route 53 records to use a latency routing policy. Add a static error page that is hosted in an Amazon S3

bucket to the records so that the traffic is sent to the most responsive endpoints.

B- Set up a Route 53 active-passive failover configuration. Direct traffic to a static error page that is hosted in an

Amazon S3 bucket when Route 53 health checks determine that the ALB endpoint is unhealthy.

C- Set up a Route 53 active-active configuration with the ALB and an Amazon EC2 instance that hosts a static error

page as endpoints. Configure Route 53 to send requests to the instance only if the health checks fail for the ALB.

D- Update the Route 53 records to use a multivalue answer routing policy. Create a health check. Direct traffic to the

website if the health check passes. Direct traffic to a static error page that is hosted in Amazon S3 if the health check does not pass.

Answer: 
B

Question 9
Question Type: MultipleChoice

A business's backup data totals 700 terabytes (TB) and is kept in network attached storage (NAS) at its data center. This backup data

must be available in the event of occasional regulatory inquiries and preserved for a period of seven years. The organization has chosen

to relocate its backup data from its on-premises data center to Amazon Web Services (AWS). Within one month, the migration must be

completed. The company's public internet connection provides 500 Mbps of dedicated capacity for data transport.



What should a solutions architect do to ensure that data is migrated and stored at the LOWEST possible cost?

Options: 
A- Order AWS Snowball devices to transfer the data. Use a lifecycle policy to transition the files to Amazon S3 Glacier Deep Archive.

B- Deploy a VPN connection between the data center and Amazon VPC. Use the AWS CLI to copy the data from on premises to

Amazon S3 Glacier.

C- Provision a 500 Mbps AWS Direct Connect connection and transfer the data to Amazon S3. Use a lifecycle policy to transition the

files to Amazon S3 Glacier Deep Archive.

D- Use AWS DataSync to transfer the data and deploy a DataSync agent on premises. Use the DataSync task to copy files from the on-

premises NAS storage to Amazon S3 Glacier.

Answer: 
A

Question 10
Question Type: MultipleChoice



A gaming company has a web application that displays scores. The application runs on Amazon EC2 instances behind an Application

Load Balancer. The application stores data in an Amazon RDS for MySQL database. Users are starting to experience long delays and

interruptions that are caused by database read performance. The company wants to improve the user experience while minimizing

changes to the application's architecture.

What should a solutions architect do to meet these requirements?

Options: 
A- Use Amazon ElastiCache in front of the database.

B- Use RDS Proxy between the application and the database.

C- Migrate the application from EC2 instances to AWS Lambda.

D- Migrate the database from Amazon RDS for MySQL to Amazon DynamoDB.

Answer: 
C
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